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GENERAL INSTRUCTIONS

1. Immediately after the commencement of the examination you should check that this test booklet does not

have any unprinted or torn or missing pages or items, etc. If so get it replaced by a complete test booklet.

2. You have to enter your Roll Number (Registration No.) on the Test Booklet in the Box provided alongside
this line. Do not write anything else on the Test Booklet, other than the marked items.

. This Test Booklet contains 100 items (questions). Each question is printed both in Hindi and English. Each
item comprises four responses (answers). You will select the response which you want to mark on the
Answer Sheet. In case you feel that there is more than one correct response, mark the response which you
consider the best. In any case, choose ONLY ONE response for each item.

4. You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions in the
Answer Sheet.

. All items carry equal marks.

. Before you proceed to mark in the Answer Sheet the response to various items on the Test Booklet, you
have to fill in some particulars in the Answer Sheet as per instructions sent to you with your admission
certificate.

7. After you have completed filling in all your responses on the Answer Sheet and examination has
concluded. You should hand over to the invigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet.

. Sheets for rough work are appended in the Test Booklet at the end.

. Penalty for wrong answers:

There will be penalty for wrong answers marked by a candidate in the objective type question papers :-

e There are four alternatives for the answer to every question. For each question for which a wrong
answer has been given by the candidate, One-Third of the marks assigned to that question will be
deducted as penalty.

e If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the
given answers happens to be correct and there will be same penalty as above to that question.

o If a question is left blank, i.e. no answer is given by the candidate; there will be no penalty for
that question.
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Estd. 1997

Consider the following statements —
(1) Patagonia Desert

(2) Gobi Desert

(3) Atacama Desert

(4) Namib Desert

Which of the above is hot desert?
(@) 1and 3 (b) 1and 2
(c)3and 4 (d)2and3

Which of the following plateau is located in Asia?
(a) Missouri Plateau

(b) Ozark Plateau

(c) Katanga Plateau

(d) Shan Plateau

Which of the following river discharge in Pacific
Ocean?

(a) Amazon River

(b) Mackenzi River

(c) Colorado River

(d) Sant Lawrence River

Where is the mouth of Mekong river?
(a) In East China Sea

(b) In South China Sea

(c) In yellow Sea

(d)In Japan Sea

Which of the following is correctly matched?

Grasslands Country
(@) Pampas - Peru
(b) Weld - South Africa
(c) Dawn - New Zealand
(d) Preyari - Mexico

Where is the mouth of river Nile?
(@) In Red Sea

(b) In Black Sea

(c) In Mediterranean Sea

(d) In Yellow Sea

Which of the following river does not form delta?
(1) Narmada (2) Godavari
(3) Tapi (4) Juari

Which of the above is correctly matched?
(@)1,2and 3 (b) 2, 3and 4
(©)1,3and 4 (d) All the above
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Which of the following strait connect Pacific
Ocean and Arctic Ocean?

(a) Bass Strait

(b) Dover Strait

(c) Boring Strait

(d) Luzon Strait

Which of the following strait separate the northern
and Southern islands of New Zealand?

(a) Cook Strait

(b) Bass Strait

(c) Pak Strait

(d) Dover Strait

Which of the following sea is located in the Arctic
Sea?

(a) Beaufort Sea

(b) Baltic Sea

(c) Black Sea

(d) Bismark Sea

Which of the following islands is located in Pacific
Ocean?

(1) Hawaii Island

(2) Galapagos Island

(3) Victoria Island

(4) Greenland Island

Which of the above is correct?
(@) 1and?2 (b) 1and 3
(c)3and 4 (d) 1and 4

The correct sequence of the following seas from

West to East is-

(a) Black Sea, Mediterranean Sea, Caspian Sea,
Aral Sea

(b) Caspian Sea, Mediterranean Sea, Black Sea,
Aral Sea

(d) Mediterranean Sea, Black Sea, Caspian Sea,
Aral Sea

(d) None of these

Kriba dam has been built on the river —
(@) Lena

(b) Zambezi

(c) Mahi

(d) Amur
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The most of the oxygen on the earth is produced
by —

(a) Grasses

(b) Algae

(c) Trees

(d) Paddy fields

Which of the following lakes is located entirely
within the United States?

(a) Michigan Lake

(b) Superior Lake

(c) Ontario Lake

(d) Erie Lake

Which of the following lake is located in the
eastern coastal area?

(1) Pulicat lake

(2) Wembnad Lake

(3) Kolleru Lake

(4) Chilka Lake

Which of the following is correct?
(@ 1,2 and 3 (b) 1,2 and 4
(c)1,3and 4 (d) All are correct

Which of the following lake is located in North
America?

(1) Great Slave Lake

(2) Great Bear Lake

(3) Titicaca Lake

(4) Balkhash Lake

Which of the above is correct?
(@) 1and 2 (b) 1and 3
(c) 2 and 4 (d)2and3

Where is Macdonald Lake located?
(a) In Australia

(b) In Malaysia

(c) In Somalia

(d) In Ghana

Which mountain range is located in North
America?

(1) Vasech Mountain range

(2) Appalachian Mountain range

(3) Coastal Range

(4) Rockey Range

Code:
(@) 1and 2 (b) 2 and 3
(©)1,2and 3 (d) All are correct
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Which of the following countries shares boundary
with Ukraine?

(1) Belarus (2) Moldova

(3) Romania (4) Russia

(5) Poland (6) Slovakia

Which of the above is correct?

(@) 1,2 and 3 (b) 2,3 and 4
(c)4,5and 6 (d) All the above shares

England separates by which strait with other
European countries?

(a) Dover Strait

(b) Bass Strait

(c) Riga Strait

(d) Gibraltar Strait

White sea is located at the boundary of which
country?

(a) Russia

(b) Canada

(c) America

(d) Denmark

Which countries are called Baltic Countries?
(a) Latvia, Lithuania, Estonia

(b) Russia, Poland, Belarus

(c) Russia, Lithuania, Estonia

(d) None of these

Scandevian Mountain is located at the boundary
of which countries?

(@) Norway - Sweden
(b) Sweden - Finland
(c) Finland - Russia
(d) Norway - Denmark

Sicily island is located in which sea?
(a) Black Sea (b) Yellow Sea
(c) Mediterranean Sea (d) Red Sea

Which of the following statements are true about

India? Use the code given below to select the

correct answer:

(1) India is the fifth largest country of the world.

(2) It occupies about 2.4 percent of the total area
of the lithosphere.

(3) Whole of India lies in the tropic zone.

(4) 82°30" east longitude is used to determine
Indian Standard Time.

Code:
(@) 1and 2 (b) 2 and 3
() 1and 3 (d)y2and 4
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Which of the following statements about India is

incorrect?

(a) India is the ' largest country in the world.

(b) India is the second populous country of the
world.

(c) It's land boundary extends for around 15,200
km.

(d) The earliest sunrise is seen in its Mizoram
State.

Consider the following statements —

(1) The meridian of Jabalpur lies between the
meridian of Indore and Bhopal.

(2) The latitude of Aurangabad lies between the
latitudes of Vadodara and Pune.

(3) The location of Bangalore is more southern
than Chennai.

Which of the above statements are correct?
(@ 1and3 (b) Only 2
(c) 2 and 3 (d)1,2and 3

Indian states bordering Bangladesh are —

(a) West Bengal, Nagaland, Assam, Meghalaya
(b) Nagaland, Assam, Sikkim, West Bengal

(c) Meghalaya, Assam, West Bengal, Tripura
(d) Nagaland, Assam, West Bengal, Tripura

Which of the following statement is incorrect?
(a) Geologically Peninsula region is India’s most
ancient part.
(b) Himalaya mountains demonstrate the most newly
developed folded mountains in the world.
(c) The Western coastline of India is formed by the
deposition process of the rivers.
(d) Gondwana rocks have the largest reserve of coal
in India.

Consider the following statements regarding

formation of landforms in India —

(1) Structurally, the Meghalaya plateau is an
extended part of the Deccan plateau.

(2) The Valley of Kashmir was formed in a
synclinorium.

(3) The Gangetic plain was formed in a fore deep.

(4) The Himalayas originated as a result of
triangular convergence of the Indian plate, the
European plate and the Chinese plate.

Which of these statements are correct?
(@) 1,2and 3 (b) 1,3 and 4
() 1Tand 3 (d) 1and 4
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auq(A)%%Tnﬁgﬁﬁwﬁaﬁmﬁmw
|
PRI (R) : f3AaT 30t auf &7 3ifdesier aféf-
T A ¥ U Rl g

Pc:
(a) (A) T (R) &I TET E AT (R), (A) FT Te TS &
(b) %%%n (R) €T el §, TR (R), (A) BT el SRS

|
() (A) TET &, T (R) 77l &
(d) (A) TS 8, TR (R) F&1 &

33, Rafae A T & &0 H YR &7 IT6RY 6-
@ AIYA RA BT (b) N1 Taag fufd &1
(o) ke @t R BT (d) ST Ryd &1

34, fAfaRed gl & $H-91 gd ¥ iy @t 3R udd
R &1 e A 82

(2) UaREE, ref=ToiT, S=Tquf, et
(b)w,@w,wmmﬁ

() SaTorT, ST, SrTauT, TR

(d) TaEE, aToT, TR, s=Tqurf

35. '3fcd oAd ¥ Yafdd FEfafad sy R faar
PTI98 HH-T1/A TE 287

(1) 351 Al a1 TS Ti1e- gRI fhar T g

(2) T TR 3R AR Wi =1t B g 5l

(3) U fRwTe & UR-USTa udd sRae & A&l fRyd g
(4) T8 YRA & fore IR =P I Aeayuf B 1

2 fig T e @ wE SR 9wl

Pe:
() PaA 1 3R 2 (b) HIdA 2 3R 3
() PAA1,2 3R 4 (d)Hdd 1,2 334

36. -9 3wy U MY § H UF & B (A) AT
T DI HROT (R) Bl TG
FYF (A) : R YA Jaar arar Youia &=
femrer &= & fRyd g
PRI (R) :gumﬁaé&a%ﬁmaamm
|

Pc:

(a) YT (A) TUT BRUT (R) I TgI & IUT BRI (R)
HYT (A) BT et A=A 8

(b) BU (A) TUT BRI (R) GHI TEI &, TR PRI (R)
HYT (A) B! et AT Tl g

(c) HYF (A) T8t 8, fhg BRUT (R) Tad B

(d) FY (A) T g, fbg BRI (R) TE! B
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32.  Consider the following statements and select the
correct answer from the code given below:
Assertion (A) : All rivers originating from the

Himalayas are perennial.
Reason (R) : Himalayas receive much of
precipitation from South-Western monsoon.

their

Code:

(a) Both (A) and (R) are true, and (R) is the correct
explanation of (A)

(b) Both (A) and (R) are true, but (R) is not the correct
explanation of (A)

(©) (A) is true, but (R) is false.

(d) (A) is false, but (R) is true.

33.  The Himalayas are formed of parallel fold ranges,
of which the oldest range is —

(a) The Shiwalik Range (b) The Lesser Himalayas

(c) The Great Himalayan Range (d) The Dhauladhar Range

34.  Which one of the following groups is the correct
sequence of mountain peaks from east to west?
(a) Everest, Kanchenjunga, Annapurna, Dhaulagiri
(b) Kanchenjunga, Everest, Annapurna, Dhaulagiri
(c) Kanchenjunga, Dhaulagiri, Annapurna, Everest
(d) Everest, Kanchenjunga, Dhaulagiri, Annapurna

35.  Consider the following statements regarding ‘Atal
Tunnel’ Which of them is/are correct?
(1) It was built by Border Roads Organization.
(2) It connects Manali and Lahaul Spiti Valley
(3) It is located across Pir-Panjal Range of Himalayas
(4) It is strategically important for India

Choose the correct answer from the code given
below. Code:

(@) Only 1 and 2 (b) Only 2 and 3

()Only 1,2and4 (d)Only 1,2,3and 4

36. Two statements are given below in which one
statement is (A) and the second is (R).
Statement (A) : The most dense Sesimic zone in
India is located in the Himalayan region.
Reason (R) : Many longitudinal inversion zones
are located in the Himalaya.

Code:

(a) Statement (A) and reason (R) both are correct and
reason (R) is right explanation of statement (A)

(b) Statement (A) and reason (R) both are correct, but
reason (R) is not the correct explanation of statement (A)

(c) Statement (A) is correct, but reason (R) is incorrect.

(d) Statement (A) is incorrect, but reason (R) is correct.
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37.

IWIGd Idad MHiadl BT Uldd § yd &1 R
Sed gU Ta! % Jdrsy -

@1,2 3,4

(b) 4, 3,2, 1

(€23, 4,1

d1,3,2 4

H fou MU ge ¥ FEfiiea ueifsal &1 féror @
IR DI 3R dgd gU Tg! AR 3hd JHu-

(1) IdHTAT YgTfSai

(2) PR UgIfSat

(3) TR Tt guft

(4) T ygTfSai

e

(@23,1,4
b)1,2,4,3
(©1,23,4
(d)4, 3,21

fFfafed gml W faar $ifer -
CRISE) : (&)

(1) PISAATRISAl -  BRHSAdC

QPRUgedl - PlpUC

3)Heled UeIfdal - A HRA

@) R ugfeal - galaR ¥R

%@ﬁ@raﬁq@rﬂﬁﬁﬁﬁa &
(a1

(b) 2 3R 3

() 3 3R 4

(d) 2 3R 4

= & ¥ o feuray &) Tifedl & ud ¥ ufdy fe=m
T G} H DI TR Rl 67

(a) HTCTIR, FHaToiT, HehT, ATSC TR

(b) I SRaT, FHa-ToiT, FaTedl, ATSC Tavee

(c) HepTe], TR, PARS, FAe SRel

(d) ATHHT §RdT, Gb'd"I\SI‘II Hl\jdw Waﬂ){
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Consider the following relief features:
(1) Mhahadeo Range

(2) Maikal Range

(3) Chhotanagpur Plateau

(4) Khasi Hills

The correct west to eastward sequence of the
above relief features is —

(@1,234

(b)4,3,21

(©23,41

(d)1,3,2,4

Select from the code given below the correct
locational sequence of the following hills
proceeding from south to north —

(1) Satmala hills

(2) Kaimur hills

(3) Pir Panjal Range

(4) Naga hills

Code:

(@23,1,4
b)1,2,4,3
(©1,23,4
(d) 4, 3,21

Consider the following pairs:
(Hills)

(1) Cardamom Hills -

(2) Kaimur Hills -

(3) Mahadeo Hills -

(4) Mikir Hills 5

(Region)
Coromandel Coast
Konkan Coast
Central India
North-East India

Which of the above pairs are correctly matched?
(@) 1and 2
(b) 2 and 3
(c)3and 4
(d) 2 and 4

Which one of the following gives correct sequence

of Himalayan peaks in the direction east to west?

(a) Dhaulagiri, Kanchenjunga, Makkalu, Mount
Everest

(b) Namcha Barwa, Kanchenjunga, Nanda Devi,
Mount Everest

(c) Makalu, Dhaulagir, Kumaun, Namcha Barwa

(d) Namcha Barwa, Kanchenjunga, Mount Everest,
Nanda Devi
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-1 (1)) BT G-I (199) & T GAferd Hiforg
3R il & I f&T 7T Foe 71 T IR el Iai)

) (-1
gret I
(a) TG Ot - 1. Rfdwn
(b) I 1t : 2. fRurd e
(c) TTaT Tt - 3. W IR HRHR
(d) YT =Tt - 4. TGS
dc:
A B CD
@2 4 3 1
03 12 4
©2 1 3 4
)3 4 2 1
AR & 9 319 U ue! gaferd T8l 82
(a) T 9T - T U9 HRAR
(b) VBT - fgHTA U=

(c) STAfS |1 - RBUMIS U
d) ¥ &M - SRRES

f=fafad gmt = foar Sifo -
(&) &
(1) dIYS - -
) IR REh 3 EGIE]
3) foram L Harf=t
4) farf= - BCLl
(5) o - A
ST # q PH-3 T el &7
(@) 1,2 3R 4 (b) 1,3 3R 4
(€2 3R 5 (d)3 3R 5
Ry fewme wat fRua g2
(a) TS T & g H

(b) 8 P g H

(c) Frafie & IR |

(d) ST U1ET & IR |
AYTAY BT TSR HIT 8 -

(a) TewTerT 9okt &1

(b) UIGIGIT WS &1

(c) gdf ure uddi &1

(d) TIgeT 9uft F1
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41,

42.

43.

44,

45.
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Match List-I (Valley) with List-II (State) and select
the correct answer using the code given below the
lists:

List-I List-II
(Valley) (State)
(a) Markha Valley - Sikkim

(b) Dzukou Valley
(c) Sangla Valley

Himachal Pradesh
Jammu and Kashmir

1
HwDN =

(d) Yumthang Valley - Nagaland
Code:
ABCD
@2 4 3 1
b3 1 2 4
©2 1 3 4
(d3 4 2 1

Which one of the following is not correctly
matched?

(@) Chang La -
(b) Rohtang -
(c) Bomdi La -
(d) Se La -

Jammu and Kashmir
Himachal Pradesh
Arunachal Pradesh
Uttarakhand

Consider the following pairs —

(Glacier) (River
(1) Bandarpuch - Yamuna
(2) Bara Shigri - Chenab
(3) Milam - Mandakini
(4) Siachen - Nubra
(5) Zemu - Manas

Which of the pairs given above are correctly

matched?
(@ 1,2 and 4 (b) 1,3 and 4
(c) 2 and 5 (d)3and 5

Siachen Glacier is situated to the?
(a) East of Aksai China

(b) East of Leh

(c) North of Gilgit

(d) Noth of Nubra Valley

Meghalaya plateau is the part of —
(a) Himalayan Range

(b) Penisular plateau

(c) Mountains of Eastern Ghats

(d) Satpura Range
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yRdaY & ufym adlg fAEifed wel W R
PIfoTT -

(1) SISTRT

(2) PR

3)

(4) Riyg

IR I &1 37 TRI BT el 59 g1l -
P

@1,2 3 4
©1,2 4,3

<9 &l 9et gue BRar g -
(a) 3ISAM &) APER gud
(b) 3SHH &I IHAR

(c) URd & HidedT I

(d) TEfgId DI ATcTGdr

210 T THg Tegy -

(a) YaTd IART HT 8

(b) ST I BT §

() gaT Ragu &1 8

(d) S & 1S ot Sip AL &

TEA-1 BT -1 o A1 GHA Hiforg T =id feu 70
R BT YANT PR Jgl Ik AT -
Gal-I ol
(&) (Sfareyfa)
(a) 9Td TATER FIfeaTars de
(b) foRA 3R YR <
(c) GR®T Hod DI Wl
(d) dla TR P ETe!
D

A B
@1 2
(b)y3 4

1
3

(b)2,1,3,4
(d)1,4,2,3

MW=

(c) 2
(d) 4

W Bip faare {1 g 320 & Aem g2
(a) HRA-TTfhed™

(b) SHIMRAT-TTfh &=

(c) IH-HRT

(d) HRd-STTeTeRT

- MDD WA
N W= MO
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Consider the following cities located on western
coast of India -

(1) Janjira

(2) Kannur

(3) Nagercoil

(4) Sindhudurg

Which of the following option represents correct
order of cities from north to south —

Code:
(@1,23, 4 (b)2,1,3,4
(©1,2,4,3 (d)1,4,2,3

Ten Degree channel separates —
(a) Andaman from Nicobar Islands
(b) Andaman from Myanmar

(c) India from Sri Lanka

(d) Lakshadweep from Maldives

Islands group Lakshadweep is —

(a) Accumulation of coral reef

(b) Accumulation of volcano substances
(c) Soil sedimentation

(d) None of the above-mentioned is true

Match List-I with List -II and select eh correct
answer using the code given below —

List -1 List-II

(Island) (Location)
(a) Viyant Syodhar 1. Coast of Kathiawar
(b) Piram 2. Coast of Arabian sea
(c) Dwarka 3. Gulf of Kutch
(d) Diu 4. Gulf of Cambay

(Khambhat)

Code:

A B CD
@1 2 3 4
by 4 2 1
@2 1 4 3
4 3 1 2

Sir Creek dispute is between which of the
following two countries?

(a) India-Pakistan

(b) Afghanistan-Pakistan

(¢) China-India

(d) India-Bangladesh

10
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IR & 9 SIF A1/ By 981 8/87

(1) e vgrfear gdf are ud ufded ae &
JRTE WA R 3aUT B

(2) SrgragT AR ygre) Bt Fdfed @It 71 T8

2637 Hiex S g

2 feT MU B BT TET PP TE IR BT AT
EIIEIY

(a)%—;m (b) Had 2
(©18MR2aA (@ Adr1g2
fFrefafad ° 9 7ad fawed &1 T & -

(a)gagﬁw%m%_ T AETg T & Skl fabie forad

|

(b) AR UGTTSAT AT & GoH B & U
SafRUT g

(c) TG ! UBISal Hed Yo I7ed | fRYd 3
(d)@mwﬁrﬁ% D1 UBISAT iy U=l o forey forat &
|

f=fafed 3 @ &F W uda yaen o= cféon et
— ANETE, IR IR Ffed | Bkl gs 87

(a) PISHA Tad gadl

(b) SFTHATS Tad §aa

() AR Tdd 4

(d) T Idd Raa

frefofad & @ & 1 faer I8t gAfrd 781 82
I IadH RRaR

(a) Pl - HedrERiR

(b) HEIRTSE - EIN ﬁalé

(©) - g

d) ' - IR

ww%ﬁaﬁﬁﬂﬁw@ra{mww
?

(a) TP UHR &I gA8fd

(b) Th YDHR &I IJUSRS UH

(€) Uh UHR &I soR YA

(d) T UHR B! 99

Jeaaus & TSR H by 9 &1 WD Il dad
I F gRI s HERES! B Sad Y B TR
FBA &7

(a) ST Y

(b) g =7t

CERIE ST .

(d) $7H A BIS T
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Select the correct answer using the code given below:

N

Estd. 1997

Which of the following statement(s) is/are correct?

1. The 'Nilgiri Hills' are situated at the junction of
the Eastern Ghats and the Western Ghats.

2. Doddabetta is the highest peak of the Nilgiri
Hills. It is 2637 meter high.

Code -
(@) Only 1
(c) Both 1 and 2

(b) Only 2
(d) Neither 1 nor 2

Select the Incorrect Option from the following:

(a) The Javadi hills are located in the North Arcot
district of the state of Tamil Nadu.

(b) The Shevaraya hills are located near the town
of Salem in Tamil Nadu.

(c) The hills of Garhjat are located in the state of
Madhya Pradesh.

(d) Ramagiri hills are located in Chittoor district of
Andhra Pradesh.

Which of the following Mountain Range is spread
over the three southern states - Tamil Nadu,
Kerala and Karnataka?

(a) Cardamom Mountain Range

(b) Anamalai Mountain Range

(c) Nilgiri Mountain Range

(d) Palani Mountain Range

Which of the following option is not correctly
matched?

States -
(a) Karnataka -

Highest Peaks
Mullayanagiri

(b) Maharashtra - Kalsubai
(c) Manipur - Phawngpui
(d) Nagaland - Saramati

What do you understand by the term 'Rohi' in
context with the state of Rajasthan?

(a) A type of Vegetation

(b) A type of Fertile Land

(c) A type of Barren Land

(d) A type of Grass

In the plateau of Bundelkhand, the interlocked
Gorges formed by the Chambal river, a tributary of
the which river, are called 'territory of Bad Lands'?
(a) Beas River

(b) Indus River

(c) Brahmaputra River

(d) None of these

11
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Which River is the most important river of the
Rajasthan Plain originating from the Aravalli
Mountain Range, that through Rajasthan Bangar
and Thar Desert merges into the Rann of Kutch in
Gujarat?

(@) Sukri River

(b) Luni River

(c) Jawai River

(d) None of these

Select the Incorrect Option from the following as

per the Census, 2011:

(a) Population Density of India - 382

(b) Sex Ratio of India - 943

(c) Child Sex Ratio of India (between 0 to 6 years
age group) - 919

(d) Literacy rate of India - 73 percent

Which of the following statement/s is/are correct?

I According to the 2011 census, Tamil Nadu has
the highest female literacy.

II. According to the 2011 census, Himachal
Pradesh has the highest percentage of rural
population.

III. According to the 2011 census, the state with
the lowest population growth rate is Nagaland.

Select the correct answer using the code given below:
Code -
(a) (1), (I) and (1II) (b) Only (II) and (IIT)
(c) Only (I) and (III) (d) Only (I) and (II)

Which of the following option is not correctly

matched as per Census 20117

(a) Bihar state is the state with the highest
population density in India.

(b) Haryana is the state with the lowest child sex
ratio both in rural and urban terms.

(c) The Jain community is the community with the
lowest sex ratio in India.

(d) Jain community is the most literate community
in India.

Select the Incorrect Option from the following:
(@) Mahanadi Delta - Karnataka

(b) Godavari Delta - Andhra Pradesh

(c) Krishna Delta - Andhra Pradesh

(d) Cauvery Delta - Tamil Nadu
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64.

65.

66.

67.

Estd. 1997

62.  Select the Correct Option from the following: (The
Western Coastal Plain)
(a) Konkan Plains - Between Daman and Maharashtra
to Goa
(b) Kannada Plains - Between Goa to Coimbatore
(c) Malabar Plains - Between Mysuru and Kanyakumari

(d) All of the Above

63.  Select the Incorrect Option from the following:

(@) The capital of Andaman and Nicobar 'Port Blair' and
the famous 'Cellular Jail' are located in the South
Andaman Island.

(b) The 'Cocoa Strait', located in the North Andaman
Island, separates Andaman from the 'Cocoa Islands'
of Myanmar.

(c) 'Duncan Pass' is found between Middle Andaman
and Little Andaman.

(d) None of these

64. The National Capital Region does not include
parts of —
(a) Haryana (b) Punjab
(c) Rajasthan (d) Uttar Pradesh

65.  Which of the following statement/s is/are correct

with reference to the '‘Majuli Island"?

I MajuliIsland is the largest river island in the world.

II. Majuli Island has been declared as the 33rd district of
Assam.

Il 1t is the 'First River Island District' of the country.

Select the correct answer using the code given below:
Code -

(@) @), (I1) and (1)  (b) Only (II) and (III)

(c) Only (I) and (IlI) (d) Only (I) and (II)

66.  Which of the following State/Union Territory had the
Scheduled Castes population as per the 'Census of
20112
(@) Arunachal Pradesh
(b) Nagaland
(c) Andaman and Nicobar Islands
(d) Puducherry

67.  Select the Odd one out from the following:

(@) Saharanpur is the northernmost district of Uttar
Pradesh.

(b) Sonbhadra is the southernmost district of Uttar
Pradesh.

(c) Ballia is the easternmost district of Uttar Pradesh.
(d) Lalitpur is the westernmost district of Uttar Pradesh.
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For an area to be a 'Census Town', at least what
percentage of its main working population of
males must be engaged in non-agricultural
activities?

(@) 25 percent

(b) 50 percent

(c) 75 percent

(d) 90 percent

In which of the following States three crops of
paddy- 'Aus, Aman and Boro' are grown in a year?
L. Odisha
II. Assam
IIL. Sikkim
Select the correct answer using the code given below:
code -
(@) (D), (I) and (III)
(b) Only (II) and (IIl)
(c) Only (I) and (III)
(d) Only (I) and (II)

Which of the following statement/s is/are correct?
1. A protein called gluten is found in high
amounts in Wheat.
2. Vitamin B1, Vitamin B2, Vitamin B6 and Vitamin
E are found in Wheat.
Select the correct answer using the code given below:
Code -
(@) Only 1 (b) Only 2
(c) Both 1 and 2 (d) Neither 1 nor 2

Select the Incorrect Option from the following:

(@) Maize is a C4 plant.

(b) Maize is a crop of all three seasons i.e. Kharif,
Rabi and Zaid.

(c) Maize is grown as fodder in Kharif.

(d) The protein of maize is called Zein.

Through which of the following element,
Rhizobium is able to fix the atmospheric nitrogen
in the soil?

(@) Sodium

(b) Phosphorus

(c) Cobalt

(d) Calcium

14

FH 6~k K - K = -0 Xk Kk K =1 =0k 0k Kk b Kk K -~ Xk k- Xk i K = -0 X6 Kk - —H i - R Xk k- i K~ ki Kk Kk ik —HE -~ Ve K Kb K K~ X X Kk e K K =4 ~H X i X —H K~ X i K 0 e e XK


http://www.vedantaiasacademy.co.in/
http://www.viasacademy.com/

A A A A A A A A A A A A A A A A A A A SO ST A ST AT

S0tk ik 0k 0k 0= 0= k= k= =k =0k 0k~ 0k~ Kk~ k= Kk~~~ 0k 0k~ 8= k= Kk~ =Kk =K 0k~ 0k k= Kk~ k- —H= k= 40k 0k K= Kk Kk Kk =K 0k 0k k= Kk~ k-~~~ 0k 0k K= k= Kk~ Xk K~ 0k 0k Kk~ k= - Kk k= 0k K= Kk Xk = k= Kk ~H= k= Kk K

73.

74.

75.

76.

77.

78.

© VEDANTA IAS ACADEMY

frfafad ° 9 98} fowey &1 T &

(1) RO & Tl § Th 3o Bife HI Y Urg
T ©, S U] SRR 3 o v et B

I & dd H TIHT 64% forifae S gr
STal B, Sff OHd Y9a] § Thid dlawgid Bl
I P BT B BT 5

(1) TR & I H I 1h 3 YT SITdl § S A
W & T 8P RS g B

D
() (D), (1) 3R (1) (b) A (1) 3R (1)
(@Fad @ MR @)  (d) Pad (1) 3R (1)

e & 3 o o1 faeea g6t gafrd T8t 82
(a) el @ fe - dIHIfdd

(b) PO I fb - FoIrdm

() BIBI B fbey - 3 Il

(d) 3T BT fobey - P I
CTFAR ATHRM DT ITINT 1 T  ford i o
IRUAATE 0T & fore fasar ST 82

(a) HUN

OKILIEIR]

() 7=

(d) °r4

fefafed & @ @9 I 7€ T 7€ & SN de ¥
forem areh sifaw 7 82

(a) ©TERT

(b) TSP

(c) DIt

(d) HgTHaT

frffed & @ 1 a1 fawer It gaferd T8t 82
(a) GTAYER TTCt TRANSHT - SIRWUS 3R UfEH Fmet
(b) TgRTER TR - IRWUS 3R UfyH Se

() TR AT URANSHT - FREUS 3R U STe
CESEREIEE

fAfoiad o o Wadf et &1 Ierexv 781 82
OEESEE

(b) SqaT =TT

(c) I e

(d) STH F BIS TRI

D-11/156-157, SECTOR-8, ROHINI NEAR METRO PILAR NO. 389 NEW DELHI-110085
CONTACT: 9911753333

Website: www.vedantaiasacademy.co.in, www.viasacademy.com, Email: vedantaiasacademy.com
e a e a a a a a  a  a a  C  a  a a a

N

Estd. 1997

73.  Select the Correct Option from the following:

I. A high degree of protein is found in Sunflower
Cake, which is used for animal feed.

II. About 64% Linoleic Acid is found in Sunflower
Oil, which acts to clean the Cholesterol
accumulated in human arteries.

III. Mustard Oil contains the Erucic Acid which is
harmful to human health.

Select the correct answer using the code given below:
Code -

(a) (), (IT) and (II) (b) Only (IT) and (IIl)

(c) Only (I) and (1II) (d) Only (I) and (II)

74.  Which of the following Option is not correctly
matched?
(a) Variety of Groundnut - Bonneville
(b) Variety of Cotton - Sujata
(c) Variety of Coffee - Old Chicks
(d) Variety of Potato - Kufri Jyoti

75.  Butachlor herbicide is used for weed control in
which of the following Crop?
(a) Cotton
(b) Soybean
(c) Sugarcane
(d) Paddy

76.  Which of the following River is the last river to
meet the left bank of the Ganga River?
(@) Ghaghra
(b) Gandak
(c) Kosi
(d) Mahananda

77. Which of the following Option is not correctly
matched?
(a) Damodar Valley Project-Jharkhand and West Bengal
(b) Mayurakshi Project - Jharkhand and West Bengal
(c) Farakka Project - Jharkhand and West Bengal
(d) None of these

78.  Which of the following is not an example of
Subsequent River?
(@) Chambal River
(b) Betwa River
(c) Son River
(d) None of these
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Which of the following option is not correct?

Rivers -
(a) Ken River -
(b) Gomti River -
(c) Tapti River -
(d) Sharavati River -

Point of Origin
Haryana

Uttar Pradesh
Madhya Pradesh
Karnataka

Select the Incorrect Option from the following:

(@) Teesta River water dispute is between India
and Bangladesh.

(b) The Sankosh River forms the boundary of
Assam and West Bengal.

(c) The Sharda River is known as the Kali River on
the Indo-Nepal border.

(d) The Brahmaputra River is known as Jamuna in
Nepal.

Arrange the following State in Descending Order
in the basis of Carbon Stock as per the 'India State
of Forest Report, 2021'?
(@) Madhya Pradesh>Arunachal Pradesh > Chhattisgarh
(b) Arunachal Pradesh>Madhya Pradesh> Chhattisgarh
(c) Arunachal Pradesh>Chhattisgarh>Madhya Pradesh
(d) Madhya Pradesh>Chhattisgarh>Arunachal Pradesh

Which of the following Two States ranks first and
second respectively in terms of the Bamboo Bearing
Area consecutively?

(a) Maharashtra and Arunachal Pradesh

(b) Karnataka and Madhya Pradesh

(c) Mizoram and Maharashtra

(d) Madhya Pradesh and Arunachal Pradesh

Only which state has recorded decrease in terms
of mangrove cover as compared to ISFR, 20197
(ISFR, 2021)

(@) Jharkhand

(b) Bihar

(c) Gujarat

(d) None of these

There is a deficiency of which of the following in
the Desert Soil?

(a) Salts

(b) Phosphorus

(c) Nitrogen

(d) None of these
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Which of the following Soil has the lowest area in
the Country?

(a) Alluvial Soil

(b) Red Soil

(c) Black Soil

(d) Laterite Soil

Select the Incorrect Option from the following:
(a) Tibetan Plateau - Central Asia

(b) Colorado Plateau - United States of America
(c) Plateau of Meseta - Spain's Iberian Peninsula
(d) Anatolian Plateau - Mexico

Select the Incorrect Option from the following:

Types of Vegetation - Major Trees
(a) Desert Vegetation - Acacia

(b) Dry Thorny Vegetation - Mahogany
(c) Tropical Evergreen Vegetation- Ebony

(d) Dry Deciduous Vegetation - Palas

Select the Correct Option from the following:
I. Govind Ballabh Pant 'National Institute of
Himalayan Environment' - Almora
II. Jawaharlal Nehru Tropical Botanical Garden
and Research Institute - Thiruvananthapuram
III. Indian Institute of Ecology and Environment -
New Delhi
Select the correct answer using the code given below:
code -
(a) (D), (I1) and (III) (b) Only (II) and (II)
(c) Only (I) and (III) (d) Only (I) and (II)

Which of the following States are the Beneficiary
States under the 'Kishau Dam Project'?
I. Haryana
II. Uttar Pradesh
III. Rajasthan
IV. Punjab

Select the correct answer using the code given below:
Code -
(a) (D), (II), (1) and (IV) (b) Only (1), (II) and (III)
(c) Only (ID), (1) and (IV)  (d) Only (I) (III) and (IV)

Which of the following Option is Incorrect?

State Local name of the Shifting Agriculture
(@) Manipur - Pamlou

(b) Andhra Pradesh - Kuruwa

(c) Meghalaya - Bogma

(d) Odisha - Pama Dabi
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91.

92.

93.

94.

95.

PN I W T 5 Fiy B S5 g Bl AR
AT, 317¢] U=, Hifedh 3R HERTE & s G0N
T} o faare 82

(a) SIS diY

(b) STHE Y

CEI-ENEEI

(d) Aol qiYy

ffaRad dela s SR $ IR U Sl
D1 3R AT He-

() PorT TG ST TR

(1) BT T ST TR

(Il HEIT T ST TR

(V) HEI RIS ST TR

= R 7 e 1 wET R TE Sk g -
C

(@) IV, I I 3R III
(©IL LIV 3R

(b) I, 1L, I 3R IV
(d)IL 100, T 3R IV

frefred & & o O e ad gafea 82
o I

(a) PollfbeaE - GRId

(b) frfifam . R g™

OGISIEESIES . ICECZ:d

(d) THAFTE - ST

PIABRI AoRd &1 foeR FAfafea & 3 e
3pIep SxI H §7

(@) ST

@) Arffean

(1) faror 3pient

i 3T T4 Fe &1 AT &1 el Sk AT :
®c:
(b) Had (1) 3R (1)

(@) (D), (1) 3R (1)
() Had (1) 3R () (d) Haet (1) 3R ()

fafafaa Tsaf &1 3@ ada a1 ot dars &
IMYR W RIS HH H YT B2

() HERTSS

(1) HA

) 3ffs=m

) faT 71T e o1 TaT R & Ik gAY -
c:

(a) (0, (1) 3R ()
() (I, (1) 3R (1)

(b) (@), () 37 ()
(d) () () 3R ()
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91.

92.

93.

94.

95.

Select the correct answer using the code given below:

Select the correct answer using the code given below:

Select the correct answer using the code given below:

Estd. 1997

There is a 'Krishna River Water Dispute' between

Telangana, Andhra Pradesh, Karnataka and
Maharashtra regarding increasing the height of
which dam on the Krishna River?

(a) Kabini Dam

(b) Almatti Dam

(c) Ottu Barrage Dam

(d) Meja Dam

Arrange the following Central Research Institutes
from North to South:

I. Central Tobacco Research Institute

II. Central Potato Research Institute

III. Central Botanical Research Institute

IV. Central Coconut Research Institute

Code -
@1V, Iand I
(0 UL L IVandII

(b) LI, T and IV
(d)IL L, I and IV

Which of the following option is correctly
matched?
Countries Capitals
(a) Kazakhstan - Dushanbe
(b) Kyrgyzstan - Nur Sultan
(c) Tajikistan - Bishkek
(d) Turkmenistan - Ashgabat

The Kalahari Desert is spread in which of the
following African Countries?

L. Botswana

II. Namibia

III. South Africa

Code -
(a) (), () and (IIT)
(c) Only (I) and (III)

(b) Only (1) and (III)
(d) Only (I) and (II)

Arrange the following States in Ascending Order
on the basis of their length of Coastal Line?

I. Maharashtra

II. Kerala

III. Odisha

code -
(a) (D), (II) and (I)
(©) (1), (I) and (III)

(b) (1), (I1) and (III)
(d) (1) () and (1)
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(d) None of these
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: @ :
{92 VEDANTA IAS ACADEMY §
I :
% 3
# 96 fAHAfaRad & ¥ 7Tad fadwed &1 T o 96. Select the Incorrect Option from the following: ¥
i (@) WW%WW@WU&%Wﬁ (a) People of Tharu tribe celebrate Deepawali as a i
* T B mourning festival. i
$ (b) mﬁ@mmﬁﬁmmﬁqmm%l (b) The practice of polyandry is prevalent in the %
i (c) FIRIT SITTITa oY 997 J Faiferd B Bhotia tribe. i
4 (d) ol ST Y R ¥U I SR & 19 I +ff (c) The Buxa tribe belongs to the Rajput clan. i
i ST ST 8 (d) Raji tribe is also locally known as Banraut. i
i 97. f=faRed ¥ 9 7erd fadwed &1 o9 & - 97.  Select the Incorrect Option from the following: i
% (a) Pl - c\‘(SQIg—I foran, SaREs (a) Chakrata - Dehradun District, Uttarakhand ¥
¥ (b) W—WWWW SIH (b) Haflang - North Cachar Hill District, Assam ¥
i (0 I - Wﬁf@ﬂﬁﬁﬂ qigy §a (c) Kalimpong - Cooch Behar District, West Bengal i
4 (d) BT — e forem, feaea uew (d) Kasauli - Solan District, Himachal Pradesh 4
% %
i 98. AfaRad & 9 Tad fdsed &1 9a- - 98.  Select the Incorrect Option from the following: i
& ﬁ'g[ YRR Countries Grasslands !
¥ (a) 3iReferan - 389 (a) Australia : Downs 3
i (b) éﬁw - TR GEl (b) Venezuela - Canterbury ﬁ
4 (© cleor 3fpidT - éﬁm (c) South Africa - Velds i
¥ (d) TR - QST (d) Hungary - Pustaz i
$ %
& . ! i . . 3
99. f=fafad # @ & I1 U Weeg <X TRl /7 99. Which of the following Country is not a
i (a) SSRGS Landlocked Country? i
i (b) Hc™ (a) Azerbaijan i
(c) P& (b) Bhutan
i (d)%ﬂﬁ@[ﬂﬁ'ﬁtﬂﬁ (c) Kazakhstan i
3 (d) None of these 3
T 100, PEfAfEd § @ B @ HERITRI 4RI 3US) Ul i
i Cak 100. Which of the following Oceanic Current is cold in i
£ (a) RN YRT Nature? 4
i (b) ASTTSR YRT (a) Kuroshio Current i
i (c) T YR (b) Labrador Current i
i (d) T8 I BIS Tl (c) Somali Current i
F ¥
¥ ¥
% ¥
¥ ¥
% ¥
¥ ¥
£ %
¥ ¥
£ ¥
¥ ¥
£ ¥
¥ ¥
% ¥
¥ ¥
% ¥
¥ ¥
¥ ¥
¥ ¥
¥ ¥
: ¢
3 ¥
: ¢
% ¥
+ ¢
% ¥
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